Multimedia Work Station

Installation Instructions

E. F. Bavis & Associates, Inc.

201 Grandin Road
Maineville, Ohio 45039
(513) 677-0500

Copyright 2004 E. F. Bavis & Associates, Inc. Revised 11/29/2004
All Rights Reserved P/N 00693011



Notice:

The monitor stand is designed to be used with LCD monitors. It is not designed to handle
standard CRT type monitors. Please read any and all warning labels affixed to the machine.

Installation:

This device is designed to be mounted to a one inch or thicker counter system. Enclosed in this
package are screws, decorative caps and even the drill bit to make the holes for the screws.
Please note that all six screws must be installed in the base in order for the stand to have the
strength required for operation. Three wire ties are included to aid in wire routing and placement.
Equipment is to be installed on stand as shown in the illustration below.

The only tools that are required to install this stand are a #2 Philips head screw driver and a drill.
Instructions follow on the next page.

-~
. .

T
M ™ ™
S s
\\_\ . -
. ‘“\\_\ L
Ry, -~ Ty
Sl .
e -
S, T
B TN .
~

(Monitor Trayt\h\\

Swivel |

'F‘rescriptiori] . SN o
Holder % ?{I :
(Standard | |
Telephone —. " S -;
{

. Mount ) / Ny /

‘Standard
Keyboard
Tray



#8 PLASTIC
SCREW COVER

#8 X 1" PHILIPS
PAN HEAD SCREW

POSITION WORKSTATION
AND PRE-DRILL PILOT HOLE
WITH THE 1/8" DRILL BIT SUPPLIED.
SECURE WITH THE #8 X 1" SCREWS
AND PLASTIC SCREW COVERS
SUPPLIED, 8-PLACES AS SHOWN.




Materials List

The following additional materials are included in the package. Please use these materials when
installing the stand:

Part Number Description Qty.
01008026 Black Wire Tie 3
01081011 1/8” short Drill Bit 1
93009005 #8 Plastic Screw Covers 6
93160623 #8 x 1” Philips Pan Head Screws 6




